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TNPSC GROUP – I MAIN 2021 

PAPER – I: UNIT – III 
GENERAL MENTAL ABILITY 

Syllabus 
 

STATISTICS 

Conversion of information to data - Collection, compilation and presentation 
of data - Tables, graphs, diagrams - Parametric representation of data. 

Reference Book: State Board School Book 9th & 10th(Mathematics)   
                               11th Standard(Statistics) 
                               Appolo Course Material 
                               Gurusamy (Tamil Version) 
                               Elementary Statistics (A.K. Sharma) 

 

QUANTITATIVE APTITUDE 
Analytical interpretation of data - Percentage - Highest Common Factor 
(HCF) - Lowest Common Multiple (LCM) - Ratio and Proportion - Simple 
interest - Compound interest - Area - Volume- Time and Work – Probability.  

Reference Book:  
Quantitative Aptitude - R.S. Agarwal 
Samacheer School Book: 7th & 8th Std Maths [Life Mathematics, 
Measurements] 
Samacheer School Book : 9th Std Maths [Probability & Mensuration] 
Samacheer School Book: 10th Std Maths [Probability & Mensuration] 
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COMPUTER TECHNOLOGY 
Basic terms, Communications - Application of Information and 
Communication Technology (ICT) - Decision making and problem solving - 
Basics in Computers / Computer terminology. 

Reference Book:  Appolo Course Material,  
                             State Board School Book 11th std. Computer Volume - I 

 

School Book:  
Area 6 OLD 3 3.1 to 3.4  

 6 NEW 3 3.1, 3.2  

 7 OLD 2 2.1 

 7 NEW 2, 1 (2.1 to 2.4) both 

 8 OLD 1 2.1, 2.2 

 8 NEW 1 2.1 to 2.4  

 9 OLD 3 4.1  

 
General Mental Ability Questions Analysis – 2019 
 

2019 Grp I 
Main 

Quantitative 
Aptitude 

Statistics Information 
Technology 

Total 
Marks 

= 50 

10 Marks 

(2 out of 3) 

2 Q 
1Q (5 +5) 

1 Q - 20 

15 Marks 

(2 out of 3) 

3 Q 
1Q (7.5 + 7.5)  

- - 30 

 

General Mental Ability Questions Analysis – 2017 
 

2017 Grp I 
Main 

Quantitative 
Aptitude 

Statistics Information 
Technology 

Total 
Marks 

3 Marks 7 Q 1 Q 2 Q 30 

8 Marks 3 Q 1 Q 1 Q 40 

15 Marks 1 Q - 1 Q 30 

Total 

Marks 

60 11 29 100 
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MENSURATION – 2D (AREA) WORK SHEET 
 

FORMULAE (#j;jpuq;fs;) :  
 
Square (rJuk;)  
 
 Area (gug;gsT)   = a2     

 Perimeter (Rw;wsT)  = 4a     

 Diagonal (%iytpl;lk;)  = 2a  

     
Rectangle (nrt;tfk;)  
 

 Area (gug;gsT)   = l x b 

 Perimeter (Rw;wsT)  = 2 x (l + b) 

 Diagonal (%iytpl;lk;)  = 2 2l b    

   
Triangle (Kf;Nfhzk;)  

 Area (gug;gsT)  = 
1

2
 x b x h 

 Perimeter (Rw;wsT) = AB + BC + CA 
 

 
 

Right angle triangle (nrq;Nfhz Kf;Nfhzk;)  
 

 Area (gug;gsT)  = 
1

2
 x b x h 
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 Perimeter (Rw;wsT)  = (base + height + hypotenuse) (mbgf;fk; + 
cauk;  
        +  fh;zk;) 

  
 

Equilateral (rkgf;f Kf;Nfhzk;)  

 Area (gug;gsT)  = 
3

4
 a2;   where ( 3  = 1.732) 

 Perimeter (Rw;wsT) = AB + BC + CA= 3A; Altitude = h = 
3

2
a units 

 
 

Isosceles triangle (,U rkgf;f Kf;Nfhzk;)  

 Area (gug;gsT)  = h x 2 2a h  

 Perimeter (Rw;wsT) = 2a + 2 2 2a h  

 
 

Scalene triangle (mrk gf;f Kf;Nfhzk;)   

 Area  (gug;gsT) = ( )( )( )s s a s b s c    Where S = 
2

a b c 
 

 Perimeter (Rw;wsT)   = AB + BC + CA = (a + b + c) 

  
 

Rhombus (rha;rJuk;) 

 Area (gug;gsT)  = 
1

2
 × d1 × d2 where d1, d2 are diagonals  
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(%iytpl;lk;) 
 Perimeter (Rw;wsT) = 4a 

  
Parallelogram (,izfuk;) 
 

 Area (gug;gsT)  = b × h  

 Perimeter (Rw;wsT) = 2 × (a + b) 

  
 

Quadrilateral (ehw;fuk;) 
 

 Area (gug;gsT)  = 
1

2
 × d × (h1 + h2) 

 Perimeter (Rw;wsT) = AB + BC + CD + DA  

 
 

Trapezium (rhptfk;)  

 Area (gug;gsT)  = 
1

2
 × h × (a + b) 

 Perimeter (Rw;wsT) = AB + BC + CD + DA 

   
 

Concept Summary:  
 

 The central angle of a circle is 360°. 
 

 Perimeter of a semicircle =  2 r   units.  
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 Area of a semicircle = 
2

2

r  sq. units  

 

 The central angle of a semicircle is 180°.  
 

 Perimeter of a quadrant 2
2

r
 
  

 
units.  

 

 Area of a quadrant = 
2

4

r sq. units.  

 

 The central angle of a quadrant is 90°.  
 

 Perimeter of a combined figure is length of its boundary. 
 

 A polygon is a closed plane figure formed by 'n' line segments 
 

 Regular polygons are polygons in which all the sides and angles are equal.  
 

 Irregular polygons are combination of plane figures.  
 

 Area of the circle = 2r  
 

 Circumference of the circle = 2 r  
 

 No. of revolutions = 
tanCovered dis ce

Perimeter
= fle;j njhiyT

Rw; wsT
 

 
Sector (tl;lNfhzg; gFjp)  

Area of the sector  (tl;lNfhzg; gFjpapd; gug;G) 2

360
R


 


 

R = Radius of the circle (tl;lj;jpd; Muk;)  
 

Arc length (l) = (tl;ltpy;ypd; ePsk;) = 2
360

R





 

Perimeter of a sector = l + 2R  

Length of the arc of each of the sectors = 
1

2 r
n

  

Area of each of the sectors = 21 r
n

  

Area of the triangle, 

  = 1 2 3 2 3 1 3 1 2

1
{ ( ) ( ) ( )

2
x y y x y y x y y      sq.units.  
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Area of the quadrilateral: 

  = 
1 3 2 4 2 4 1 3

1
{( )( ) ( )( )

2
x x y y x x y y      sq.units. 

      

MENSURATION – 2D WORK SHEET 
 
1. Find the perimeter of the given figure.  

nfhLf;fg;gl;l tbtj;jpd; Rw;wsT fhz;f.     
Solution  
  Perimeter = Total length of the boundary    

  = (6 + 2 + 10 + 3 + 2 + 1 + 3 + 4 + 2 + 6 + 9) cm   
   = 48 cm 

        
 
2. Find the height 'h' of the parallelogram whose area and base are 368 sq. cm 

and 23 cm respectively. 
gug;gsT 368 r.nr.kP kw;Wk; mbg;gf;fk; 23 nr.kP msTfs; nfhz;l 
,izfuj;jpd; cauk; fhz;f.  
solution:  

 Given: Area = 368 sq. cm , base b = 23 cm  
 Area of the parallelogram = 368 sq. cm  
    b × h = 368  
    23 × h = 368     

    h =  
368

23
 = 16 cm  

  Thus, the height of the parallelogram = 16 cm. 
 
3. The floor of an office building consists of 200 rhombus shaped tiles and 

each of its length of the diagonals are 40 cm and 25 cm. Find the total cost of 
polishing the floor at ì 45 per sq.m. 
XH; mYtyff; fl;blj; jiuapy; 200 rha;rJu tbtpyhd XLfs; 
gjpf;fg;gl;Ls;sd. XLfspd; %iytpl;lq;fspd; msTfs; 40 nr.kP kw;Wk; 25 
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nr.kP vdpy;> jiuia nkU$l;lr; rJukPl;lUf;F ì 45 tPjk; nkhj;jr; 
nryitf; fhz;f.  
Solution:  

 Given, the length of the diagonals of a rhombus shaped tile are 40 cm 
and 25 cm  

 The area of one tile = 
1

2
 × (d1× d2) sq. units  

      = 
1

2
× 40 × 25  

      = 500 sq. cm  

  Therefore, the area of 200 such tiles = 200 × 500  

      = 100000 sq. cm  

      
100000

10000
= (1 sq. m = 10000 sq. cm)  

       = 10 sq. m  

 Therefore, the cost of polishing 200 such tiles  at the rate of `45 per sq. 
cm  = 10 ×  45  = ` 450.  
  
4. The area of a trapezium is 828 sq. cm. If the lengths of its parallel sides are 

19.6 cm and 16.4 cm, find the distance between them.  
gug;gsT 828 r.nr.kP> ,izg;gf;f msTfs; 19.6 nr.kP> 16.4 nr.kP nfhz;l 
rhptfj;jpd; cauj;ij fhz;f.  
Solution  
Given, Area of the Trapezium= 828 cm² 

  
1

2
× h (a + b) = 828     

  
1

2
× h (19.6 + 16.4) = 828  

   
1

(36)
2

h  = 828 

    h (18) = 828  

    h = 
828

18
 

    h = 46 cm  
    

 Therefore, distance between the parallel sides = 46 cm 
 
5. The radius of a tractor wheel is 77 cm. Calculate the distance covered by it 

in 35 revolutions? (use   = 
22

7
) 
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xU buhf;lh; tz;br; rf;fuj;jpd; Muk; 77 nr.kP vdpy;> mJ 35 Kiw 

Rw;Wk;NghJ> flf;Fk; njhiyitf; fhz;f. (  = 
22

7
vd;f)  

     
Solution:  
 The distance covered in one revolution 

     = the circumference of the circle 
     = 2 r  units 

     = 2 × 
22

7
×77  

     = 2 × 22 ×11 
     = 484 cm 
 
6. A circular shaped gymnasium ring of radius 35 cm is divided into 5 equal 

arcs shaded with different colours. Find the length of each of the arcs. 
35 nr.kP MuKs;s tl;l tbtpyhd [pk;dh];bf; tisakhdJ 5 rk 
msTs;s tpw;fshfg; gphpf;fg;gl;L ntt;NtW epwq;fspy; 
tz;zkplg;gl;Ls;sJ. vdpy;> xt;nthU tl;l tpy;ypd; ePsj;ijAk; fhz;f.  
Solution: 

    

Length of each of the arcs, l  
1

2 r
n

  units 

 
1

2 35
5

     

 l = 14  cm  
 

7. Find the central angle and area of a palm leaf fan (sector) of radius 10.5 cm 

and whose perimeter is 43 cm. (  = 
22

7
) 

Muk; 10.5 nr.kP kw;Wk; Rw;wsT 43 nr.kP msTfs; nfhz;l xU 

gidNahiy tprpwpapd; ikaf;Nfhzk; kw;Wk; gug;gsitf; fhz;f. (  = 
22

7
) 

Solution:  
  Perimeter of the palm leaf fan= 43 cm 
  That is,    l + 2r = 43 

      l + 2 × (10.5) = 43 
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      l = 43 – 21      
             
       
  the length of the arc l = 22 cm. 

  Length of the arc l = 2
360

r







units  

     22 = 
22

2
360 7


 


10.5

1.5

 
 

     = 
360

120
3




     

  Also, area of the palm leaf fan 

    A = 
2

lr
sq.units  

     = 
22 10.5

2


 

    A = 115.5 cm2 (approximately)  
     
8. The radius of a circular cricket ground is 76 m. A drainage 2 m wide has to 

be constructed around the cricket ground for the purpose of draining the 

rain water. Find the cost of constructing the drainage at the rate of ₹180/- 
per sq.m. 
tl;l tbt kl;ilg; ge;Jj; (cricket) jplypd; Muk; 76 kP. me;jj; jpliyr; 
Rw;wpYk; 2 kP mfyj;jpy; kioePh; tbtjw;fhd tbfhy; (drainage) mikf;f 
Ntz;bapUe;jJ. xU rJu kPl;lUf;F ì180 tPjk; nrythdhy;> me;j tbfhy; 
mikf;fj; Njitahd nkhj;jj; njhifiaf; fhz;f.  
solution:  

  The radius of the inner circle (cricket ground), r = 76 m 
  A drainage is constructed around the cricket ground. 
  Therefore, the radius of the outer circle, R = 76 + 2 = 78 m 
  We have, area of the circular path =   (R2 − r2) sq. units 
       = 2 2( ) .R r sq units   

       = 2 222
(78 76 )

7
   

       = 
22

(6084 5776)
7
   

       = 
22

308
7
  

       = 22 × 44 = 968 m2 

 Given, the cost of constructing the drainage per sq.m is ₹180. 

 Therefore, the cost of constructing the drainage = 968 ×180 =  ₹1,74,240 
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9. The area of a trapezium is 352 sq. cm and the distance between its parallel 
sides is 16 cm. If one of the parallel sides is of length 25 cm then find the 
length of the other side. 
gug;gsT 352 r.nr.kP kw;Wk; ,U ,izg;gf;fq;fSf;fpilNaahd njhiyT 
16 nr.kP nfhz;l rhptfj;jpd; ,izg; gf;fq;fspy; xd;wpd; msT 25 nr.kP 
vdpy;> kw;nwhd;iwf; fhz;f.  
solution:  

         
  Let, the length of the required side be ‘x’ cm.  

  Then, area of the trapezium =  
1

.
2

h a b sq units   

        = 
1

16(25 )
2

x   

      ` 

        = 200 + 8x  

   But, the area of the trapezium = 352 sq. cm (given)  

    Therefore, 200 + 8x = 352  

        8x = 352 – 200  

        8x = 152  

        x = 
152

8
 

        x = 19 

 Therefore, the length of the other side is 19 cm.  
 
10.  A goat is tethered by a rope 3.5 m long. Find the maximum area that the 

goat can graze. 
taypd; ikaj;jpy; mbf;fg;gl;Ls;s fl;ilapy; 3.5 kP ePsk; nfhz;l Jk;Gf; 
fapW nfhz;L ML fl;lg;gl;Ls;sJ. ML Nkaf;$ba mjpfgl;r gFjpapd; 
gug;gsit fhz;f.  
Solution 
Radius of the circle = Length of the rope 

    radius r = 3.5 m =  
7

2
m 

 maximum area grazed by the goat =  r2 sq. units. 

    = 
22 7 7

7 2 2
   

    = 
77

38.5 .
2

sq m  
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 maximum area grazed by the goat is 38.5 sq. m. 
 
11.  A silver wire when bent in the form of a square encloses an area of 121 sq. 

cm. If the same wire is bent in the form of a circle. Find the area of the circle. 
xU nts;spf; fk;gp tisf;fg;gl;L rJukhf khw;Wk; NghJ> mjdhy; 
milgLk; gFjpapd; gug;gsT 121 r.nr.kP mNj nts;spf;fk;gp tl;lkhf 
tisf;fg;gLfpwJ vdpy; tl;lj;jpd; gug;gsT vd;d?  
Solution 
Let a be the side of the square 
Area of the square = 121 sq. cm. (given) 

    a2 = 121   a = 11 cm (11 × 11 = 121) 
 Perimeter of the square = 4a units  
      = 4 × 11 cm 
      = 44 cm 
 Length of the wire = Perimeter of the square = 44 cm 
 The wire is bent in the form of a circle 
 The circumference of the circle = Length of the wire 
 circumference of a circle = 44 cm 
     2 r = 44 

    2 × 
22

7
× r = 44 

     r = 
44 7

44


 

     r = 7 cm 
  Area of the circle =  r2 

     = 
22

7
× 7 × 7 

  Area of the circle = 154 cm2. 
  

12. When a man runs around circular plot of land 10 times, the distance 
covered by him is 352 m. Find the area of the plot. 
tl;l tbt kidia xUth; gj;J Kiw Rw;Wfpwhh;. mth; fle;j nkhj;jj; 
njhiyT 352 kP vdf; fzf;fplg;gLfpwJ. kidapd; gug;gsT fhz;f.  
Solution 
Distance covered in 10 times = 352 m 

Distance covered in one time = 
352

10
 m = 35.2 m 

The circumference of the circular plot = Distance covered in one time 

    circumference = 35.2 m 

  2 r = 35.2  

  
22

2 35.2
7

r    
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   r = 
35.2 7

44


 

   = 0.8 × 7 
   = 5.6 m 

 Area of the circular plot =  r2 

    = 
22

7
× 5.6 × 5.6  

    = 22 × 0.8 × 5.6 
    = 98.56 m2 
 Area of circular plot = 98.56 m2 

 
13.  The length and breadth of a room are 8 m and 5 m respectively. A red 

colour border of uniform width of 0.5 m has been painted all around on its 
inside. Find the area of the border. 
8 kP ePsKk;> 5 kP mfyKk; nfhz;l xU miwapy; cl;Gwkhf rPuhd rptg;G 
tz;zg; ghij 0.5 kP mfyj;jpy; G+rg;gLfpwJ. rptg;G tz;zg; ghijapd; 
gug;gsT fhz;f.  

    
solution:  
  

Outer (given)rectangle Inner rectangle 
l = 8 m 
b = 5 m 
Area = 8m × 5 m 
= 40 m2 

width, w = 0.5 m 
L = l - 2w 
           = (8 – 1) m = 7 m 
B = b - 2w 
             = (5 – 1) m = 4 m 
Area = 7m × 4 m 
= 28 m2 

  

  Area of the path = (Area of outer rectangle) – (Area of inner 
 rectangle) 
 = (40 – 28) m2 
 = 12 m2 
  Area of the border painted with red colour = 12 m2 
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14.  A key-chain is in the form of an equilateral triangle and a semicircle 
attached to a square of side 5 cm as shown in the figure. Find its area. 

( 3.14, 3 1.732)    
xU rhtpf;nfhj;jhdJ 5 nr.kP gf;f msTs;s rJuj;Jld; xU rkgf;f 
Kf;Nfhzj;ijAk;> Xh; miu tl;lj;ijAk; cs;sthW ,izj;J 
cUthf;fg;gl;Ls;sJ vdpy; mjd; gug;gsitf; fhz;f. ( 3.14, 3 1.732)    

solution:  
  Side of the square   = 5 cm 
  Diameter of the semi-circle  = 5 cm 

     Radius  = 2.5 cm 
  Side of the equilateral triangle = 5 cm 

 

Area of the keychain = area of the semi circle + area of the square 
        + area of the equilateral triangle 

     = 2 2 21 3

2 4
r a a    

     = 
1 3

3.14 2.5 2.5 (5 5) 5 5
2 4

  
              

 

     = 9.81 = 25 + 10.83 
     = 45.64 cm2 (approx). 

 
15.  Four equal circles are described about four corners of a square so that each 

touches two of the others as shown in the figure. Find the area of the 

shaded portion, each side of the square measuring 28 cm. 
gf;f msT 28 nr.kP msTs;s xU rJuj;jpd; ehd;F %iyfspypUe;J 
xt;nthU tl;lKk; kw;w ,uz;L tl;lq;fisj; njhLkhW ehd;F tl;lq;fs; 
glj;jpy; cs;sgb tiuagg;gLfpd;wd vdpy; epoypl;l gFjpapd; gug;gsitf; 
fhz;f.  

       
Solution 

Let ABCD be the given square of side a. 
    a = 28 cm  

 Radius of each circle, r = 
28

2
 

     = 14 cm  
Area of the shaded portion = Area of a square - 4 × Area of a quadrant 
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   = a2 – 4 21

4
r   

   = 28 × 28 – 4 × 
1

4
× 

22

7
× 14 × 14  

   = 784 – 616 
 Area of the shaded portion = 168 cm2 .    
 
5 Marks 
 
1. area = 62.5 m2; base = 25 m. Find the height of the Triangle?  

gug;gsT = 62.5 kP2> mbg;gf;fk; = 25 kP nfhz;l Kf;Nfhzj;jpd; cauk; 
vd;d?  
 

2. The area of a quadrilateral is 54 cm2. The perpendicualrs from two opposite 
vertices to the diagonal are 4 cm and 5 cm. What is the length of this 
diagonal? 
xU ehw;fuj;jpd; gug;gsT 54 nr.kP2. mjd; ,U cr;rpapypUe;J %iy 
tpl;lj;jpw;F tiuag;gLk; nrq;Fj;jpd; ePsq;fs; 4 nr.kP> 5 nr.kP vdpy; 
%iytpl;lj;jpd; ePsnkd;d?  

 
3. A ground is in the form of a parallelogram. Its base is 324 m and its height 

is 75 m. Find the area of the ground. 
xU tpisahl;Lj;jply; ,izfuk; tbtpy; cs;sJ. mjd; mbg;gf;fk; 324 kP 
kw;Wk; Fj;Jauk; 75 kP vdpy; tpisahl;Lj;jplypd; gug;gsT vd;d?  
 

4. Area of a rhombus is 4000 sq. m. The length of one diagonal is 100 m. Find 
the other diagonal. 
rha;rJuk; xd;wpd; gug;gsT 4000 r.kP. mjd; xU %iytpl;lk; 100 kP> 
kw;nwhU %iy tpl;lj;jpd; msT fhz;f.  
 

5. The area of a trapezium is 88 cm2 and its height is 8 cm. If one of its parallel 
side is 10 cm. Find the length of the other side. 
xU rhptfj;jpd; gug;gsT 88 nr.kP2> nrq;Fj;J njhiyT (cauk;) 8 nr.kP. 
rhptfj;jpd; ,izg;gf;fq;fspy; xU gf;fj;jpd; ePsk; 10 nr.kP vdpy; kw;nwhU 
gf;fj;jpd; ePsj;ijf; fhz;f.  
 

6. The diameter of a cart wheel is 2.1 m. Find the distance travelled when it 
completes 100 revolutions. 
tz;br; rf;fuj;jpd; tpl;lk; 2.1 kP. mJ 100 Rw;Wfs; Rw;wpdhy; flf;Fk; 
njhiyitf; fhz;f.  

  
7.5 Mark  
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1. If the biggest circle is cut from a square of side ‘a’ units, then what is 

remaining area in the square? 
22

7

 

 
 

 

 'a' myF gf;f msTs;s xU rJuj;jpypUe;J kpfg;nghpa tl;lj;ij

 ntl;bnaLj;jhy;> kPjKs;s gFjpapd; gug;gsT vd;d?;.
 

22

7

 

 
 

   

 
2. A park is in the shape of a semicircle with radius 21 m. Find the cost of 

fencing it at the cost of ì 5 per metre. 
miu tl;l tbtpyhd G+q;fhtpd; Muk; 21 kP. xU kPl;lUf;F ì 5 tPjk; 
mjw;Fr; Rw;W Ntyp mikf;f MFk; nryitf; fhz;f.  
 

3. A copper wire is in the form of a circle with radius 35 cm. It is bent into a 
square. Determine the side of the square. 
tl;l tbtpyhd xU jhkpuf; fk;gpapd; Muk; 35 nr.kP. ,J xU rJu 
tbtpy; tisf;fg;gLfpwJ vdpy;> mr;rJuj;jpd; gf;fj;ijf; fhz;f.  
 

4. Thenmozhi wants to level her circular flower garden whose diameter is 

49 m at the rate of ₹150 per m2. Find the cost of levelling. 
49 kP tpl;lKs;s tl;l tbtg; G+e;Njhl;lj;ijj; Njd;nkhop rPuikf;f 
tpUk;gpdhs;. xU rJu kPl;lUf;F ì 150 tPjk; nrythFnkdpy;> nkhj;jr; 
nryTj; njhifiaf; fzf;fpLf.  
 

5. A sweet is in the shape of rhombus whose diagonals are given as 4 cm 
and 5 cm. The surface of the sweet should be covered by an aluminum 
foil. Find the cost of aluminum foil used for 400 such sweets at the rate of  
ì7 per 100 sq. cm. 
Xh; ,dpg;G tif rha;rJu tbtpy; cs;sJ. mjd; %iy tpl;lq;fs; 
KiwNa> 4 nr.kP kw;Wk; 5 nr.kP ,dpg;gpd; Nkw;gug;G KOtJk; nky;ypa 
mYkpdpaj; jfl;lhy; %lg;gl Ntz;Lk;. 100 r.nr.kP f;F ì 7 tPjk; 
nkhj;jk; 400 ,dpg;Gfis mYkpdpaj; jfl;lhy; %l vt;tsT nrythFk;?  
 

6. The sunshade of a window is in the form of isosceles trapezium whose 
parallel sides are 81 cm and 64 cm and the distance between them is 6 cm. 
Find the cost of painting the surface at the rate of ì2 per sq. cm. 
xU fjpnuhsp kiwg;ghd; (sunshade) ,Urkgf;fr; rhptf tbtpy; cs;sJ. 
mjd; ,izg;gf;f msTfs; KiwNa 81 nr.kP kw;Wk; 64 nr.kP mjd; 
cauk; 6 nr.kP vdpy;> mg;gug;ig tz;zkpl xU r.nr.kP f;F ì 2 tPjk; 
MFk; nryitf; fhz;f.  

 
10 Mark:  
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1. An advertisement board is in the form of an isosceles triangle with 

perimeter 36m and each of the equal sides are 13 m. Find the cost of 

painting it at ₹ 17.50 per square metre. 
,U rkgf;f Kf;Nfhz tbtpYs;s xU tpsk;gug; gyifapd; Rw;wsT 36 kP 
kw;Wk; mjd; xt;nthU rkgf;fj;jpd; ePsk; 13 kP MFk;. mjw;F tz;zk; 
G+r xU rJu kPl;lUf;F ì 17.50 tPjk; MFk; nryitf; fhz;f.  
 

2. A ring shape metal plate has an internal radius of 7 cm and an external 
radius of 10.5 cm. If the cost of material is ì 5 per sq. cm, find the cost of 25 

rings. (
22

7
  ) 

tl;l tisa cNyhfj;jpd; cs; tl;l Muk; 7 nr.kP ntsp tl;l Muk; 10.5 
nr.kP. xU rJu kPl;lh; cNyhfj;Jf;F ì 5 tPjk; nrythdhy;> 25 tisak; 

nra;a MFk; nryitf; fhz;f. (
22

7
  ) 

 
3. A rectangular hall has 10 m long and 7 m broad. A carpet is spread in the 

centre leaving a margin of 1 m near the walls. Find the area of the 

carpet. Also find the area of the un covered floor. 
nrt;tf tbt tuNtw;G miwapd; ePsk; 10 kP. mfyk; 7 kP. RthpypUe;J 
cl;Gwkhf 1 kP midj;Jg; gf;fq;fspYk; tplg;gl;L miwapd; eLtpy; 
jiutphpg;G Nghlg;gLfpwJ. jiu tphpg;gpd; gug;gsT fhz;f. NkYk;> 
jiutphpg;ghy; %lg;glhj gFjpapd; gug;gsTk; fhz;f.  
 

4.  In a rectangular field which measures 15 m × 8m, cows are tied with a 
rope of length 3m at four corners of the field and also at the centre. Find 
the area of the field where none of the cow can graze. (  = 3.14) 

15 kP × 8 kP vd;w msTs;s nrt;tf tbt epyj;jpd; 4 %iyfspYk; 
mjd; eLtpYk; 3 kP ePsKs;s fapw;why; gRf;fs; fl;lg;gl;Ls;sd vdpy; 
ve;jg; gRthYk; Gw;fs; Nkag;glhj gFjpapd; gug;gsitf; fhz;f. (  = 
3.14) 
 

5. A 14 m wide athletic track consists of two straight sections each 120 m 
long joined by semi-circular ends with inner radius is 35 m. Calculate the area 

of the track. 
14 kP mfyKs;s Xh; XLjsg; ghijahdJ 120 kP ePsKs;s ,uz;L Neh;g; 
gFjpfisAk; cs; Muk; 35 kP msTs;s ,U miu tl;lg; gFjpfisAk; 
nfhz;Ls;sJ. me;j XL ghijapd; gug;gsitf; fzf;fpLf.  
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6. A paper is in the form of a rectangle ABCD in which AB = 20 cm and BC = 
14 cm. A semicircular portion with BC as diameter is cut off. Find the area of the 
remaining part. 
ABCD vd;w nrt;tf tbtpyhd xU jhspd; msTfs; AB = 20 nr.kP BC 
= 14 nr.kP vd cs;sd. BC I tpl;lkhff; nfhz;l xU miu tl;lg;gFjp 
mjpypUe;J ntl;b vLf;fg;gLfpwJ. vQ;rpAs;s gFjpapd; gug;gsitf; 
fhz;f.  
 

15 Mark  
 

1.  A rocket drawing has the measures as given in the figure. Find its area. 
Xh; VTfizapd; glkhdJ> glj;jpy; nfhLf;fg;gl;Ls;sthW msTfisf; 
nfhz;Ls;sJ. mjd; gug;gsitf; fhz;f.  

     
 

2. (A) Find the perimeter and area of the shaded portion 
epoypl;l gFjpapd; Rw;wsT kw;Wk; gug;gsT fhz;f.  

 
(B)  The sides of the triangular ground are 22 m, 120 m and 122 m. Find the 

area and cost of levelling the ground at the rate of ₹ 20 per m2. 
xU Kf;Nfhz tbt epyj;jpd; gf;fq;fs; KiwNa 22kP> 120 kP kw;Wk; 122 kP 
vdpy; taypd; gug;gsitf; fzf;fpLf. NkYk; taiyr; rkg;gLj;j xU rJu 
kPl;lUf;F ì20 nrythFk; vdpy;> taiyr; rkg;gLj;j MFk; nkhj;jr; 
nryitf; fzf;fpLf.  

     
3. Four horses are tethered with ropes measuring 7 m each to the four corners 

of a rectangular grass land 21 m × 24 m in dimension. Find 
(i) the maximum area that can be grazed by the horses and 
(ii) the area that remains ungrazed. 
21 kP ePsKk; 24 kP mfyKk; nfhz;l Gy;ntspapd; ehd;F %iyfspYk; 7 
kP ePsKs;s fapw;why; ehd;F Fjpiufs; fl;lg;gl;Ls;sd. vdpy;>  
i. Fjpiufs; NkAk; mjpfgl;r gug;G  
ii. Fjpiufs; Nkahj gFjpapd; gug;G Mfpadtw;iwf; fhz;f.  
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4. (A) Find the area of the shaded portion in the following figure ( 3.14)   

glj;jpy; epoyplg;gl;l gFjpapd; gug;G fhz; ( ( 3.14)   

         
   
(B) Find the radius, central angle and perimeter of a sector whose arc length 
and area are 27.5 cm and 681.75 cm2 respectively.  
tpy;ypd; ePsk; 27.5 nr.kP> gug;gsT 618.75 r.nr.kP nfhz;l tl;lf; 
Nfhzg;gFjpapd; Muk;> ikaf;Nfhzk; kw;Wk; Rw;wsT Mfpatw;iwf; fhz;f. 
          
 

5. (A) Three identical coins, each of diameter 6 cm are placed as shown. Find 

the area of the shaded region between the coins. ( 3.14) ( 3 =1.732) 
xt;nthd;Wk; 6 nr.kP tpl;lKs;s %d;W xj;j ehzaq;fs; glj;jpy; 
fhl;bAs;sthW itf;fg;gl;Ls;sd. ehzaq;fSf;F ,ilapy; milgl;Ls;s 

epoyplg;gl;l gFjpapd; gug;gsitf; fhz;f. ( 3.14) ( 3 =1.732) 
 

      
 
(B)  Two gates are fitted at the entrance of a library. To open the gates 
easily, a wheel is fixed at 6 feet distance from the wall to which the gate is 
fixed. If one of the gates is opened to 90°. find the distance moved by the 

wheel (  3.14) . 
xU E}yfj;jpd; Eiothapypy; ,uz;L fjTfs; nghUj;jg;gl;Ls;sd. 
fjtpid vspjpy; jpwg;gjw;fhf> mJ nghUj;jg;gl;Ls;s Rtw;wpypUe;J 6 mb 
J}uj;jpy; fjtpd; mbg;gFjpapy; xU rf;fuk; nghUj;jg;gl;Ls;sJ. xU 
fjtpid 90° mstpw;Fj; jpwf;Fk;nghOJ rf;fuk; vt;tsT J}uj;ijf; 

flf;Fk; (  3.14) . 

 
(Previous Year Questions) 
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1. Four horses are tethered at four corners of a square plot of side 63 m so that 
they just cannot reach one another. Find the area left unglazed.  
63 kP gf;fk; nfhz;l rJu kidapd; ehd;F Kidfspy;> xd;iwnahd;W 
neUq;fhjgb ehd;F Fjpiufs; fapwhy; fl;lg;gl;Ls;sd. Fjpiufs; Nkahj 
gFjpapd; gug;gsT fhz;.   
        (DEO, 2015, Section 8 Mark) 
 

2. A circular swimming pool is surrounded by a concrete wall of 4 ft wide. It 

the area of the circular wall surrounding the pool is 
11

25
that of the pool, find 

the radius of the pool?  
xU tl;l tbt ePr;ry; Fsk;> 4 mb mfyKila fhd;fPhpl; Rtuhy; 
Fog;gl;Ls;sJ. ePr;ry; Fsj;ijr; Rw;wp cs;s Rthpd; gug;ghdJ> 

Fsj;jpd; gug;gpd; 
11

25
ngUf;fy; vdpy;> Fsj;jpd; Muk; fhz;f.  

       (GROUP 1, 2016, Section 3 Mark) 
 

3. An equilateral triangle is described on the diagonal of a square. What is the 
ratio of the area of the triangle to that of the square? 
xU rJuj;jpd; %iy tpl;lj;jpd; kPJ xU rkgf;f Kf;Nfhzk; tiuag; 
gl;Ls;sJ. rJuj;Jld;> Kf;Nfhz gug;gstpd; tpfpjk; ahJ? 
       (GROUP 1, 2015, Section 3 Mark) 
 

4. The diagonal of a rectangle is 17 cm long and its perimeter is 46 cm, find the 
area of the rectangle.  
xU nrt;tfj;jpd; %iytpl;lk; 17 nr.kP mjd; Rw;wsT 46 nr.kP vdpy; 
mjd; gug;gsitf; fhz;f.  

       (GROUP 1, 2016, Section 3 Mark) 
 

5. A cow is tethered to one corner of a rectangular field of dimensions 60m by 
40 m by a rope of 28m long for grazing. How much area can the cow graze 
inside? How much area left ungrazed? 
nrt;tf tbtpyhd 60 m × 40 m ghpkhzk; nfhz;l fsj;jpy; xU %iyapy 
xU gR Nka;tjw;fhf 28 kP. ePsKs;s fapw;wpdhy; fl;lg;gl;Ls;sJ. khL 
fsj;jpd; cl;Gwkhf NkAk; gug;gsT vd;d? khL Nkahj fsj;jpd; gug;gsT 
vd;d? 
       (GROUP 1, 2012, Section 5 Mark) 
 

6. In a right – angled triangle the hypotenuse is 2 2  times the length of the 
perpendicular drawn from the opposite vertex on the hypotenuse. Find the 
other two angles. 
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xU nrq;Nfhz Kf;Nfhzj;jpy; nrq;Nfhzj;jpw;F vjphpy; cs;s gf;fj;jpd; 
ePskhdJ> me;j gf;fj;jpw;F vjphpy; cs;s cr;rpapy; ,Ue;J me;j 

gf;fj;jpw;F tiuag;gLk; nrq;Nfhl;bd; ePsj;ijg; Nghy 2 2  klq;F vdpy; 
kw;w ,uz;L Nfhzq;fisAk; fhz;f. 
          (GROUP 1, 2008, Section 5 Mark) 
 

7. Find the area of the square ABCD given in the following figure: 
glj;jpy; cs;s rJuk; ABCD-d; gug;ig fhz;f. 

 
 

              (GROUP 1, 2009, Section 1 Mark) 
 

8. In the following figure, AB = 10 cm, BC = 15 cm, AD : DC = 2 : 3 then find 
ABC . 

fPNo cs;s AB = 10 cm, BC = 15 cm glj;jpy; NkYk; AD : DC = 2 : 3 
vdpy; ABC If; fhz;f 

 
             (GROUP 1, 2009, Section 3 Mark) 
 

9. The diameter of the wheel of a bus is 140 cm. How many revolutions  
per minute must the wheel make in order to keep a speed of 66 km  
per hour? 
xU g]; rf;fuj;jpd; tpl;lk; 140 nr.kP. xU kzp Neuj;jpy; 66 fp.kP Ntfj;ij 
jf;f itj;J rf;fuk; XLk; NghJ vj;jif Row;rpfs; xU epkplj;jpy; 
Vw;gLj;Jk;? 

            (GROUP 1, 2017, Section 3 Mark) 
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10. If each side of a square is increased by 25%. Find the percentage change in  
its area. 
rJuj;jpd; midj;J gf;fq;fSk; 25% tPjj;jpy; mjpfkhdhy;> gug;gstpd; 
rjtPj khw;wj;ij fhz;f. 

               (GROUP 1, 2017, Section 8 Mark) 
 

11. The area of a trapezium is 160 cm2. If its parallel sides are in ratio 2 : 3 and 
the perpendicular distance between them is 16 cm, find the smaller of 
parallel sides. 
xU rhptfj;jpd; gug;G 160 nr.kP2. mtw;wpd; ,izgf;fq;fs; 2 : 3 vd;w  
tpfpjj;jpy; mike;Js;sd. mtw;wpw;F ,ilNa cs;s nrq;Fj;J njhiyT 
16 nr.kP vdpy;> mjpy; rpwpa gf;fj;jpd; ePsk; ahJ?  

               (GROUP 1, 2019, Section B, 15 Mark) 
 


